x4

R N

AD = AV EN D
l9.86 = 12.266 € VD

/P = j. Oy

s

/33 Y

2002 9NN M2 T .12
1Y N2 X0 CE ,AABC nomin v wowna

AD- CE. £CAB mmin nx n¥n ADA

.N oonn)
.4CAB =50° ,AC =170 18 : ym

AE yopn TN DN NSD N

ND yopn TN AN NSD .2

DAEC > afn) (e

AE
C’e9>(60> =n

19 () =AE
/‘fét’_ 1.5 F

A

DAEN -2 o134 (:3

.67
(o=(29)= An

/(.57
AN =  Ce529)

AN £ L. #66
A ]
D A D N ~410 g
Iy

C(25) = 4p

Iy
AD = (&(25)

AD —::/"/-36
.e




1999 990 M3 I .13
Pwn ysnr 8N E,ABCD nin 9w 19902
0N TR MY AC 197010 NN TN .BC

AB S 1in

AE yopn 79N1,54° na X0 B i

070 10 NN

AD pwn 7N DN N8

M= ge N - V0w sasc
Ubip (1> # |1 AE SR N
A6 23 el D38 nd kD GV

DAL -5 9L

| 10
Sn(5%) = 5
Jo
AR = (%)
A = 12.36
\l_'/
A = 2.4
/70' O)ﬁ@fv,ﬂ /-“)5 10 - ¥ AR =72
\ll/
2! [» A0 bl A5 = I DCATFE

.P’[DF/
DA 2 od'9d

, AD
Sn@) = 3

AD = (236l 7
AD :ﬂ!l. 756




